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Part-1 - 10%1=10
Note () Answar all the questlons 4 A
(i) Choose the most appropriate answer from the given four alternat_t\(es‘apd
write the option code and the corresponding. answer.
N A= [2o] andB"[14]then|adj(AB)l
¢ ay-40 . b) -80 ~c) -60. e« d) =20 .
2) If AT'A" is symmetric then A? = g
. a) A b) (A2 oAt d) (A7)
3) - If A [2 31 be such that AA-! = A then A is
= A b) 14 c) 19 d) 21
PIE i ’ :
.a) 0 b) 1 ; c) ~1 d) i
) 'f'___z"1 is purely Imaglnary then |z| is . YOvIaL s o
. Z+ g
" a) ‘/z BT ’ c_)_>2 ‘d) 3 ‘
6) If 2and B are parallel vectors, .then | a, C, b] is equal to
.a) 2 - b) =1 PR N d) 0 L
7 KZ=0+]kB=i+] =1and (3 x "Ez’)‘x 2= 2.2+ b then the value o
A+ is : g W is o b
a0 - b) 1 MLTAGSUR  E R g @ AN 4
8) The distance between the planes x+2y +3z+7=0 and 2x+ 4y +6z + 7 =0
a) ¥7 .. v b) 7.0t )~J7 d) 7
2V AL I 2 £ gy
9) Subtration is not a binary operatton in Ly ,
AR b) z ~C)'N . d) Q
10) If a compound statement. tnvolves 3 s&mple statements, then the number of . rows
in the. truth table is- - . .
a)9 - : b) 8 Fpv i 8 t. d)3
Part - Il : 4%x2%8

COMMON FIRST MIDTERM TEST - 2021.

Answer any Four questions Question No 16 is compulsory.

11) Prove that[ Cos 0 = slne ts orthogonat
sin@ cosﬂ
) _'_-;-1 2 2 '
- 12) lf adiA = |- 1o s ] Find A‘1
| - 240 |
- 13) Slmpllfy "B

14). A particle acted upon by constant forces 21+ 5 j+ 6k and — i - 21 - k is dlptaced
from the po:nt (4, =3, -2) to’ the point (6 1, 3) Find the total workdone by the

forces.
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15) Construct the truth table for (—p A —Q) B = |
16) Let A= {a+V5b : a,bez} Check whether the usual multiplication is a binary

ion on A.
Jogenat 4%3=12

' Part - Ill
Answer any Four questions. Question No. 22 is compulsory.
17)° Find the rank of the matrix by Minor Method.

4+ 3 1 =2
ey D4 ]
5 74 .2

18) Find the square root of 6 —8i

19) If |z] = 2 show that 3 < |z 4i| < 7

20) The volyme of the parallelopiped, whgse coterminus edges are | _
7i + mj =3k, i+2j—k, —3i+7j+5k is 90 Cubic units. Find the value of A.

21) Show that 7(p—>q) =p A 7q

&y f

~ 22) Find the angle between the straight line K*D = Y=1 = _z with coordinate axes.

2
Part - IV 4x5=20

Answer 3ll the following questions. _
23) 3) Solve by Cramer’s rule, the system of equations
' X, =X, =3, 2x, + 3x, +4x, =17, X, +2x,=7 (or)

b) Given the complex number z =3+ 2i represent the complex numbers z, iz
~and z+iz is one Argand plane. Show that these Complex numbers form the
: vertices of an isosceles right triangle. |
24) a) Prove by vector Method that sin(a + B) = sin a cosp + cos a sin B (or)

b) The upward speed v(t) of a rocket attimetis aproximated by v(t) = at? + bt + c,
0=t=<100 where a, b and c are constants. It has been found that the speed
"attimes t=3 t=6 and t=9 seconds are respectively 64; 133 ‘and 208 Mites
per second respectively. Find the speed at time t = 15 seconds. (Use
Gaussian Elimination Method). _
25) a) - Verify i) Closure property ii) Commutative property (iii) associative property
. (iv) existence of identity and (v) existence of inverse for the operation X_.. on
a subset A = {1, 3,4, 5, 9} of the set of remainders {0.,2,34,5.6.7. 8 91,110}
(or) | ' | :
b) - Find the yector-parametric, vector non parametric and Cartesian form of the
equation of the plane passing through the points (-1, 2, 0) (2, 2, —1) and
parallel to the straight line k=ljoi2yst L zfq. -
. 1 2 e

fFz=x+iy is a complex number such that Im

ey » L
P @ Dn¥rt 2

<l 2z + 1

| , Z+1
show that the locus of z is 2x2 + 2y2 + x -2y =0 (or)

B)  Let A be QY1). Define * on A by x*y = x+yxy. It is * binary on A?
i) If so, examine the commutative and associative properties statisfied Hy *onA

< i) If so, examine the existence of identity, exi * _
‘ : , existence brobers .
the operation *onA. -of inverse properties for

-—




